01331 MO A 1, avce r1ROUGH HOLE HIGH sPEED POWER CHUCKS
KILEZM
AR 3SLEPM
= SR P 22 ER 2R OE

R I B > Dimensions

L w w
R T L
Ll
_ —r ) s
A= Ei NE =-l= 1
\i 45° o BH ol EH
30° . 0°
/ \ S{|[P =
o] A S ICALELE
30° N 0° S 1 5 1
® Ll o= o=
@ X i
e\ e\
OPBT & B B €]
#571% F= > Specifications 4 - | . | | | | | Y EEiI/UNIT:mm
B /MR8 T SRR c
MODEL Nose Of A B e D E F G H J
/ SPEC. Spindle
OPBT-206 A5 170 81 140 82.563 20 5 PCDo104.8 PCDg122 52
OPBT-208 A6 215 91 170 106.375 22 S PCDo133.4 PCDo150 66
OPBT-210 A8 256 100 220 139.719 28 5 PCDo171.4 PCDo180 81
OPBF-206 A5 170 81 140 82.563 20 5 PCDo104.8 PCDo122 52
OPBF-208 A6 215 91 170 106.375 22 ) PCDo133.4 PCDo150 66
OPBF-210 A8 256 100 220 139.719 28 5 PCDo171.4 PCDo180 81
BT /3348
MODEL K M N N 0 0 3 E Q R s
/ SPEC max. min. max. min. max. min.
OPBT-206 6-M10x1.5P 20 36.35 33.6 211 9.1 7 -5 31 12 23
OPBT-208 6-M12x1.75P 25 46.6 429 26.6 11.6 10 -6 35 14 25
OPBT-210 6-M16x2P 30 54.6 50.1 33.1 13.6 8.5 =10.5 40 16 25
OPBF-206 4-M10x1.5P 20 36.35 33.6 214 9.1 7 -5 31 12 23
OPBF-208  4-M12x1.75P 25 46.6 42.9 26.6 11.6 10 -6 35 14 25
OPBF-210 4-M16x2P 30 54.6 50.1 33.1 13.6 8.5 -10.5 40 16 25
BT /A8 BILER HETE mi7#E (Bf)
MODEL T u v W X Thru-Hole Plunger Stroke Jaw Stroke
/ SPEC. [Diameter] (mm) (mm) [Diameter] (mm)
OPBT-206 2 M60x2P 20 37.5 73 52 12 5.5
OPBT-208 2 M75x2P 30 39.5 80 66 16 7.4
OPBT-210 2 M90x2P 40 43 110 81 19 8.8
OPBF-206 2 M60x2P 20 37.5 73 52 12 55
OPBF-208 2 M75x2P 30 39.5 80 66 16 7.4
OPBF-210 2 M90x2P 40 43 110 81 19 8.8
PR BRAALS BRAEREFN BRAREHEE Bic -
R /RS fﬂiﬁ’gﬁg’% Max. Pull Max. Gripping Max. Hydr. SHEETT SR %Eﬁ%e
MODEL QK. penk Force Force Pressure Matching F;lpplng
/ SPEC. BB (mE") kgf  (KN) kaf  (KN) kgffem?  (Mpa) Cylinder ange
OPBT-206 6000 1550 (15) 3950 (38.5) 15 (1.4) P1452S 013~0170
OPBT-208 5000 2250 (22) 5850 (57) 17 (1.6) P1666S 050~0215
OPBT-210 4200 2900  (28) 7400 (72.5) 195 (1.9) P1881S 034~0254
OPBF-206 4500 1700 (16.5) 4400 (42.5) 16 (1.5) P1452S 022~0170
OPBF-208 3600 2500 (24.5) 6450 (63) 19 (1.8 P1666S 050~0215

)
OPBF-210 3200 3200 (31) 8200  (80) 215 2.9) P1881S 032~0254



